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oK o # XA T 3K % = it

001 | T & H Hr 507 570 658 1,228
002 | & K HI 593 691 753 1,444
003| £ &= H H 359 374 340 714
004 | & %  H 1,011 1,196 1,127 2,323
005 | X 33 T 738 908 962 1,870
006 | = & F B 1,337 1,825 1,734 3,559
007 | #i A i) 181 259 213 472
008 | 5 4 Hr 841 1,009 1,113 2,122
009 [ K f& H 557 766 763 1,529
010 | & H i) 981 1,301 1,402 2,703
o1 | £ B F M 655 812 850 1,662
012 | &  H 860 1,118 1,286 2,404
013 | #8h H i) 557 727 836 1,563
04| & ® H 879 1,104 1,171 2,275
015 | # B  H 121 164 185 349
061 | XEE—TH 52 52 21 73
062 | XFEHEZTBH 223 195 192 387
063| XEHE=TH 7 27 52 79
064 | XFEHEMTH 110 113 155 268
071 | £HFAHEI—TH 37 29 43 72
072 | £FHFABIZTH 270 289 245 534
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oK X F | HEK 5 = i
081 | M BT — T H 0 0 0 0
082 [ A BT Z T H 25 o976 45 621
083 | A BT = T H 169 195 216 411
091 | QLB —TH 87 88 113 201
092 | BT —TH 94 172 356 528
101 | P ET—TH 119 113 124 237
111 | FEHE—TH 115 113 126 239
112 | FSHEZTH 94 73 87 160
113 | FEHE=TH 138 130 136 266
114 | FHEHEMTH 88 97 106 203
115 | FEHEATH 140 110 158 268
116 | FHHEARTH 147 138 153 291
117 | FLHHEETH 140 147 178 325
118 | FHHEI/NTH 130 135 155 290
121 | EBFHE—TH 88 88 87 175
122 | EBFHIZTH 55 55 61 116
123 | EBFHI=TH 79 82 98 180
124 | EBFHIUTHE 75 74 66 140
125 | ERFHEATH 101 103 121 224
126 | EBFHEIATHE 151 125 149 274
127 | EBFHETH 145 99 168 267

a &t 13,056 16,242 16,804 33,046




